Javall O OO 0OJaval thisOh OO PDFO OO OOOOOOOO
Dodoood
https://www.100test.com/kao_ti2020/145/2021 2022 Java E5 9F
BA E7 Al 80 c104 145498.htm l.thisU OO0 OO0 OO0 O
Jododododododooooooodooodo
OO00thisOOO0OO0OOOOO OO :public class A {String s =
"Hello".public A(String s) {System.out.printin("s ="
s).System.out.printin("1 -> this.s = " this.s).this.s =
s.System.out.printin("2 -> this.s =" this.s).}public static void
main(String[] args) {new A("HelloWorld!").}} O O 0O 0O Os=
HelloWorld!1 -> this.s = Hello2 -> this.s = Helloworld! O O O O
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JO000000000000000 this O O public class A
{public A() {new B(this).print().}public void print()
{System.out.printin("Hello from A!").}}public class B {A a.public
B(A a) {this.a =a.}public void print()
{a.print().System.out.printin("Hello from B!").}} O 0O OO 0O OO Hello
fromAlHelofromB!' OO OO0 OO0 OO0OAOOOOOOO
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[ O O public class A {int i = 1.public A() {Thread thread = new
Thread() {public void run() {for(..) {A.this.run().try {sleep(1000).}
catch(InterruptedException ie) {}}}}.thread.start().} public void
run() {System.out.printin("i =" 1).i .}public static void main(String[]
args) throws Exception {new A().}} 0 00 0O O 0O O O, thread [
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